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A5EL/#2.5cm X 43zx=1,000m
SEEL/%K/#3.0cm X 11E=600m

558Y/#120m X 8% =14,400M |

ABEL/#2.5cm X bxrx=1,250—
ABEY/#2.5cm X 33x5x=1,125M
A5EL/#2.5cm X 18325 =4,5001

AB5HY/BRE/#6.5cm X bE=8001
AB5HY/#6.5cm X 6325=5,400M

AB5EY/#8cm X 23752=2,4001
ABEY/%5/#9%cm X 1E=1,5001

558Y/#4.5cm X 10522=6,7501 |

&EftE/)%5/#10cm X 118=2,500m
&idE/135/#8cm X 11E=2,0003
ABHY/#2.5cm X 93z52=4,500—

SBEL/#2.5cm X 233752 =5,7501

ABEL/#2.5cm X4dxxz= 1,000
SBEL/%K/#3.0cm X 1= 600/™
ABEL/#2.5cm Xbxxz= 1,250/
A5EY/M2.5cm X 3= 1,1250
ABEL/#2.5cm X 183x= 4,500™
ABEY/EA/#6.5cm X bE=800m

AB5EY/#6.5cm X6xzE= 5,400
aR=E/N5/#10cm X 1E= 2,500™
BitE/1N5/#8cm X 1= 2,000
A5EY/#2.5cm X 9xz= 4,500/

ABEL/#2.5cm X 23xxx= 5,750M
A58EY/H#7.5cm Xbxxz= 4,500

ABEEY/#8cm X 235 = 2,400M
A58Y/%/#9%m X 1E= 1,500
AEEY/#4.5cm X 10xxz= 6,750
ait=E/s/#38cm X 1= 30,000
»58Y/#3.5cm X 103z5= 5,2500
A5EL/#3.5cm X 28xxF= 9,800/m
A5EY/#12cm X 8xxx=14,400m
AB5HY/#5.5cm X 15x=F=3,000m
SBHEL/#5.5cm X 38325 = 20,900
»58YU/#10cmX2372= 3,000/
A5EY/%/%12cm X 1@= 2,500—
&= /1-F/#45cm X 2= 40,000
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AB5EY/#5.5cm X 15325 =3,000™
SBEL/#5.5cm X 383252=20,900/
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4% /82/#38cm X 1/=30,0001 |
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»58Y/#3.5cm X 10322=5,250M
AB5EL/#3.5cm X 28375=9,800—

it/ E/#45cm X 2E=40,000m %



